R#ETAN XFRX BE Zv9L 02

1. XoAXZERHEX. (S35, Afks50%, Bk17520%, C#k245 107 )

(1) 2a(a—b—c) 2) (z—4)(z—5)
(3) (x+1)(x—1) (4) (a—1)?

(5) (z—2)(z+12) (6) (a+b)(a+ 5b)
(7) (4z + 3y)(4z — 3y) (8) (2a + 4b)(2a — 3b)
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2. ROAZEFE L. (SHh42®, A1, Bk13308, C#H2325%)

(1) 5a(3a —2b+c) (2) (x—6)(x—5)

(3) (z+2)(xz—2) (4) (a—3)?

(5) (z —11)(z +6) (6) (a-+2b)(a+ 5b)
(7) (2x + 15y)(2x — 15y) (8) (2a — 5b)(2a — 3b)
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REFAN XFX BE VYL 02 BE®H

1. XoXzEE & (SH35W, Afk508, Bik14720%, C #2755 107%)

(1) 2a(a—b—c) (2) (z —4)(xz—5)
= 2a? — 2ab — 2ac =x2 — 92+ 20
3) (x+1)(z—1) (4) (a—1)?
—x2 -1 =a2—-2a+1
(5) (z —2)(x+12) (6) (a+b)(a+ 5b)
=x2 4+ 10x — 24 = a? 4 6ab + 5b>
(7) (4z + 3y)(4z — 3y) (8) (2a + 4b)(2a — 3b)
= (4z)? — (3y)? = (2a)? + (4b — 3b) * 2a + 4b - (—3b)
= 1622 — 9y? = 4a? 4+ 2ab — 12b?
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2. ROAZEFE L. (SHh42®, A1, Bk13308, C#H2325%)

(1) 5a(3a —2b+c) (2) (z—6)(x—5)
= 15a2 — 10ab + 5ac =22 — 11z + 30
(3) (z+2)(z—2) (4) (a—3)?
=x% -4 =a?—6a+9
(5) (x—11)(z +6) (6) (a+ 2b)(a+ 5b)
=x? — 5 — 66 =a? + 7ab + 10b2
(7) (2 + 15y) (22 — 15y) (8) (2a — 5b)(2a — 3b)
= (2z)? — (15y)2 = (2a)? + (—=5b — 3b) * 2a + (—5b) * (—3b)
= 4x? — 22592 = 4a? — 16ab + 15b?
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